Worksheet
Chuskit Goes To School

Q.1. Tick the correct answer:
(i) Chuskit is unable to walk, so she is called .

(a) Deaf

(b) Blind
(c) Dumb
(d) Lame

Ans. (d)

(ii) Her school lies acorss the .

(a) Road

(b) Lake

(c) River

(d) Hill

Ans. (¢)

(iii) Today is special day for Chuskit because
(a) She is going to school

(b) Itis her birthday

(c) She got wheel chair

(d) None

Ans. (a)

(iv) A person one who cannot see is called .
(a) Deaf

(b) Blind

(c) Dumb

(d) Lame

Ans. (b)



(v) Chuskit is lame, so she used __to go to school.
(a) Bicycle

(b) Wheel chair

(c) Bullock cart

(d) auto

Ans. (b)

Q.2. True or False:

(i) Chuskit’s school is very far form her house.

Ans. False

(ii) There are poplar trees on her way to school.
Ans. True

(iii) Chuskit could not use her legs.

Ans. True

(iv) Chuskit was happy to see her wheel chair.

Ans. True

(v) Meme-le means father in Ladakh.

Ans. False

(vi) Abdul came to to Chuskit’s house to play with her.
Ans. False

Q.3. What do people in Ladakh say to these relatives

(i) Grandfather .

Ans. Meme-le



(ii) Mother

Ans. Aama-le

(iii) Father

Ans. Aaba-le
Q.4. Draw a picture of a wheel chair.

Ans.

Q.5. Fill in the blanks:

(i) Chuskitis _____years old girl.

Ans. Ten

(ii) Shelivesin _____village in Ladakh.
Ans. Skitpo Pul

(iii) Children ____the uneven road.
Ans. Levelled

(iv) The river bridge was made of ___
Ans. Bamboo

(v) His father brought a for her.



Ans. Wheel chair

Q.6. Matching:

Column I Column II
(a) A person who cannot speak (i) Blind
(b) A person who cannot hear (ii) Lame
(c) A person who cannot walk (iii) Deaf
(d) A person who cannot see (iv) Dumb
Ans.

Column I Column II
(a) A person who cannot speak (iv) dumb
(b) A person who cannot hear (iii) deaf
(c) A person who cannot walk (ii) lame
(d) A person who cannot see (i) blind

Q.7. Answer the questions:

(i) What was Chuskit’s dream?

Ans: Her dream was to go to school like his other friends.
(ii) Name the difficulties that Chuskit faced?

Ans: [ think she would have to face problems such as, the problem in moving over
stairs etc. She was not be able to play like normal children.

(iii) Who all helped Chuskit to reach school?

Ans: Abdul, Headmaster, teachers and children of the school helped Chuskit in



reaching school.
(iv) Have you seen any child with difficulty in your area? How would you help him?

Ans: Yes, | would like to help such a child. I would like to convince his parents to
send him to the school for the blind. I would read out lessons and stories for him.

(v) Where is Ladakh ? What kind of a place is it?

Ans: Ladakh is in Kashmir. It is the highest plateau of the Indian state. It is situated
at a great height of 3000 m. It is a very cold place.



